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2019(0dd)

Time : 3Hrs. Sem. III - E/EEE
Electrical Meas.
Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B 9wt uig gl & SR <, UAD U BT AH 43b e |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol & SR <, TAS U & A9 63(FH 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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11.

Udhal Bl 0T ®Ul SHofiHie &I el qd
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OR (3121a1)

Using a suitable diagram explain the working
principle of a multimeter. Also write its various
applications.

Uh HAeelHiex &1 s Rigra Sfud e &
arer quie & | s fafr= sSuaim &1 fY
fored

Describe the method of measurement of medium
resistance using wheatstone bridge.

gdleweq fas &1 I &) 7=a9 yfomig
A1 @Y fafer &1 9vfa & |

OR(3721dT)

Write notes an any two of the following.
(1) Frequency meter

(i1) Q -meter

(ii1) Synchroscopes

NT3022

(i)

(iii)

(iii)

(iv)

3 1620303

quf &bl favenud gq R & #ex X
dAT Y &I HHI: 40mA T 50mA DY
AMaIHAr &, df Hex

@) Y afre wagefiar @

(4) X arftre wGaaerehel 2

(F) X AT Y <191 96R gagagfie 2
(?) 379 9@ BIs LN

The difference between the measured value
and the true value is called:

(a) Gross error

(b) Relative error

(c) Probable error

(d) Absolute error

e oI qAT 4Tl T Yed b d19 BT
IR HEATdl o—

(31) "da Ffe

@) wnfére Ffe

(\) "wrfaa Ffe

@) qof Ffe

The damping torque must operate only when
the moving system of the indicating
instrument is

(a) Stationary

(b) Actually moving

(c) Just starting to move

(d) Near its full deflection
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Ty ygfa &1 aiffexer SO ol a=n
e @ wrer X | afba qar fAfkea
SYBRYT RT & D] AT DN |

OR(3721d1)

What are various source of systematic errors?
How do these errors influence the accuracy of
measurements?

rafRera Ffear &1 A= sia @ 272
I Ffe g A9 A D1 YHE STedl 27

Derive the expression for torque produced in a
moving coil of instrument and explain, briefly its

king.
working 6

Il ISl YPR & IUHIU H IUH (D D
forg afievor fadrd a1 g9 & oIl &)
dferaa aarear Y |

OR(3721dT)

Explain the features of current and potential
transformers.

NT3022

(vi)

(vii)

(vii)

(viii)
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tﬁOQ’HOQ’HO‘\“ﬁo qTIdr 2—

(31) Ddd Slodlo HEAT

(d) ®dc Todlo HEAT

(F) <l Yodlo TAT oo AT
(]) dad 9gd s1f¥a AR B A=A

The pressure coil of a dynamometer type
wattmeter is :

(a) Highly inductive

(b) Purely resistive

(c) Highly resistive

(d) Purely inductive

SIHAHCER YR @ dicHler &1 <19
HUSl Bal a—

(31) srcfere g=or

@) g ufRigs

(@) srcafere gfaRieh

(]) & uxwr

A dynamometer type wattmeter responds to
the:

(a) Average value of active power

(b) Average value of reactive power

(c) Peak value of active power

(d) Peak value of reactive power

P.T.O
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Slodlo ITHIex qAT dlecHier T Io DA x) T v gedar @ o sl B......... |
qSTAT ST 27 (37) amiex
(@) dieeHiex
OR (3121aT) (|) dieHex
(]) SHoriHIex

Explain with help of phasor diagram the principle . ) ) )
(xi)  The pressure coil of an induction type energy

meter is :

] (a) Highly resistive

LN C'R“'_'ma ®1 RigTa B e & wrer (b) Highly inductive

ATET B | (c) Purely resistive
(d) Purely inductive

of current transformer.

5. Enumerate the errors introduced by dynamometer

xi) 9RO ®hl Holl Hex A <@ Husell gldl

type wattmeter.

4 e
SRFEeR Wl dfedier & &R arel Ffear (31) srcafere gfoxien
&Y fored | (@) srafsre Y
(|) yoia: gfa=ieh
(]) yvia: dxew

OR (3121d1)

_ , (xii) Measuring range of a voltmeter can be
What is the difference between an energy meter

extended by using:
and a wattmeter? (a) Low shunt resistance
(b) Low series resistance
Sofl #iex a1 qrefler @ = Fa7 IR (¢) High shunt resistance
g (d) High series resistance

P.T.O
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xx) Q-rex .. & g R &1 &Rar =— (xiv) diecHdle} &I UfeRie 9gd 3Afre s anfay
(31) Ursarsdad® yvE arfe—
(@) THFEFAR IS (31) sT®T X Afer® B
(@) Aofy IsnA=a (@) suD! Fggar Al a8l
(]) 379 | HIs T8 (|) g8 H9aa: YAdH ERT FBT B

(]) s HdeTefiear e =i |

(xv)  The synchroscope is an instrument for
(a) Checking the voltage of the two circuits
(b) Checking of phase sequence of the two
circuits
(c) Indicating differences of phases and
frequencies of two circuit voltages
(d) checking power factor of the two circuits

xv) Rr=pIFR®Iit te Y SusRer 8 -
(31) <1 uRRuer &7 diced Slid &Rl @
(@) <1 9Ruer &1 HelT AIHA BT Sli4

Hear
GROUPB (@) <1 9RuY dices B HeT qaAT
Answer all Five Questions. aanEl al &7 3R ?‘Qﬁm e .
4x5=20 (®) <1 uRuer &1 wfda onis S
Y ufg gel & SR © Hear
2.  What is measurement ? Explain its significance in (xvi) Kelvin double bridge is best suited for the
various fields of engineering. measurement of:
4 (a) Induction
- A - N (b) Capacitance
Mo T 27 AT B SEURIEEE (c) Low resistance
wg<d &I quie & | (d) High resistance

P.T.O



O'L'd

asay Jo duoN (p)
90UBUOSAI SALIAS ()

90URUOSAI [J[[eIed (q)
1099 JL1IJ[0Z31{ (B)

------ Jo ordrourxd a3 uo syIom 1319W-()

lejRld ()

phR) (1)

payhle ()

@kl (1)

—2 1|12 2hoolle 1e 2Pk RIS

Soreuy (p)

80130914 (9)

1eondo (q)

[eOIUBYIIA (B)

........... st WU [endip e jo nding

lodfi Ripb:b bRy (2)
iRkl © Bl (&)
bkl 1o ke (b)
hRl) Mk hlkig) (k)

(xx)

(x1x)

(x1%)

— 1PAd RId dh PaBPR| 7T Mrpr (1mAX)

£€0€0091 I

CUELN

uondNpur d13UFewWosdH (P)

me[ s;ssnen) (9)

Me] s,uyQ (q)

ME[ JULIND S Joyydary (8)

: Jo ordrourid oy uo syIoM I9FFIN

Bl 3o R k3 ()
leoh Bepliny Dhb) (B)
le2h Bepliny ($klIk (b)

bllobpb
b Bebys @ khyh 220 lodfi (k)
g Ik e
Ah PIPR| @7 22l Rblle 22D
asay} Jo auoN (p)

9OUBUOSAI [BILI}O]3 JO uoudwoudyd (9)

90URUOSAI [BIIUBYOIW JO uoudwoudyd (q)
1IN0JID [10D

dAnONpUI Uk JO dduepadwr Jo uoneueA ()

: Jo ordrourid

9y} uo s91e1do 1930w Loudnbaiy uOISIAN

BRDIK bap ()

BRUJE k] (1)

IbyikR (k)

Roboui (k)

—2 pbkhe @Rl

pria B kbl gp R kbR

C0ELN (1]

(1max)

(11ax)

(11ax)

(1a%)

£€0€0791



	1: 20 - 1
	2: 2-19
	3: 18-3
	4: 4-17
	5: 16-5
	6: 6-15
	7: 14-7
	8: 8-13
	9: 12-9
	10: 10-11

